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Find the x-coordinate of the point on the curve y = 5x% — 16x where the gradientis 4.
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Find the coordinates of the points on the curve y = 2x* — 9x% + 12x where the éf R 6%1 B \%@ + \;l
doe
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dy 32
Find 2 when y = (V7)° + =
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(a) The function f(x) is given by

(o) Treeca Sade derma deromirdior
wo-tgg o e con ool the Srodion.

Show that f(x) can be written in the form f(x) = ax” + cx*, where a,b, ¢ and d are 4 )3 QB
constants to be found. %&13 2 ;23(-/ + Jou
x
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(b) Find £'(x).
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Show that f(x) can be written in the form f(x) = ax” + cx?, where a, b, c and d are
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() Find an expression for d—i’ when y = 3x2 - 2x.
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(b) Find the gradient of y = 3x? — 2x at the points where
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(a) Find an expression for 2 when y = 3x2 — 2x.
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(b) Find the gradient of y = 3x — 2x atthe points where US&P%AY\_‘@ @3\\6 %OTQ PG'Y)C CO‘B.
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9= -2

FOR THE CURVE y=f(x), THE TANGENT AT THE POINT (a,f(a)
HAS THE EQUATION (y=fla) = flal(x-a)
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1
For the graph with equation y = 3x — +?, ind the gradient of the tangentat th o
() For the graph with equation y = 3x — x fin e o (‘.0\ \

point where x = 5.
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(b) (i) Find the gradient of the normal at the point where x = 5. A
(ii) Hence find the equation of the normal at the point where x = 5.
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(a) For the graph with equation y = 3x — Zx? find the gradient of the tangent at the

point where x = 5.
Gradenr=-2

(b) (i) Find the gradient of the normal at the point where x = 5.
(if) Hence find the equation of the normal at the point where x = 5.
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FOR THE CURVE y=f(x), THE NORMAL AT THE POINT (q, f(a)

HAS THE EQUATION y—fla) = - ——
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(a) Write down the gradient of the line with equation y = k, where k is a constant.

[
(b) Find the gradient at the point where x = 8 for the following functions
0 f)=32
(i) ) = 4x® - 2x
(i) f00) = 3x5
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() Write down the gradient of the lin with equa

(b) Find the gradient at
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() Expand (x+3)(x - 2).

(i) Hence differentiate (x + 3)(x - 2). Le}C iﬁ: (g\/-\— 3) LDC,’Z).
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